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Integrály

∫ cf (x) dx = c ∫ f (x) dx

∫ (f (x) ± g(x)) dx = ∫ f (x) dx ± ∫ g(x) dx

∫ u
′
(x)v(x) dx = u(x)v(x) − ∫ u(x)v

′
(x) dx

∫ k dx = kx + c

∫ x
n
dx =

x
n+1

n+1
+ c

∫
1

x
dx = ln |x| + c

∫ e
x
dx = e

x
+ c

∫ a
x
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a
x

ln a
+ c

∫ sin x dx = − cos x + c

∫ cos x dx = sin x + c

∫
1
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2
x
dx = tg x + c

∫
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2
x
dx = − cotg x + c

∫
1

√
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dx = arcsin x + c

∫
1
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2
dx = arctg x + c

Transformace souřadnic

Polární souřadnice

x = r cos '

y = r sin '

|J | = r

Válcové souřadnice

x = r cos '

y = r sin '

z = z

|J | = r

Sférické souřadnice

x = r cos ' sin  

y = r sin ' sin  

z = r cos  

|J | = r
2
sin  


